H £ 0l & AF & S

Al A

M HE2HHHI(HIYXIZ D)

ool QIARAH|(BZ) (SH &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
PN 77,206,797 77,042,389 164,408

= 38,427 38,427 0
= 91,825 91,825 0
= 77,076,545 76,912,137 164,408
AHE LA (HEYX2A1) 69,634,849 69,268,790 366,059
oA HH|(EZ) 69,064,151 68,705,652 358,499
oIA2AHI(BZ) 69,064, 151 68,705,652 358,499
101 @124H| 51,610,304 51,310,304 300,000
01 2 45,549,375 45,249,375 300,000
OZRYUET+g
2 & 500,000,000 500,000 200,000 300,000
303 Zat= 2,904,562 2,950,000 A45,438
02 &&= 2,904,562 2,950,000 45,438
Oda03 433 2,904,562,000& 2,904,562 2,950,000 A45,438
M HSFESS 12,794,585 12,690,648 103,937
01 H3RE=S 10,253,9%6 10,150,089 103,937
SEETISERSSE
ZE 54,025,258,0002 *Ph 4,862,274 4,812,989 49,285
OLEESER=T 1=
ZE 54,025,258,000&*2.51% 1,356,034 1,342,289 13,745
OMEaRES
2E 54,025,258,000& *0. 193% 104,269 103,212 1,057
Oz Z & 54,025,258,00024%7.277% 3,931,419 3,891,569 39,850
Jl=&d| 570,698 563,138 7,560
Jl=&H| 308,613 301,053 7,560
201 et 279,573 277,773 1,800
01 ArR2eltl 110,886 109,086 1,800
OJ1=&| 97,908 96,108 1,800
=& 2| 81,420 79,620 1,800
- LRY(2H) 60,0003 30 *x1H 1,800 0 1,800
202 04l 29,040 23,280 5,760
01 =L 29,040 23,280 5,760
@0:]:] 29,040 23,280 5,760
—2tLH Z & 160,000 *30E 123 x40% 23,040 17,280 5,760
N ™ A e2at 4,400,716 4,343,492 57,224
= 3,500 3,500 0
= 4,000 4,000 0
= 4,393,216 4,335,992 57,224
HEASKIE 933,846 923,646 10,200
= 3,500 3,500 0
= 4,000 4,000 0
= 926,346 916, 146 10,200
ANHBZLHS 2Bt 63,180 61,380 1,800
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FA AIR A D
I gty A22s}
Rl ZEde A2 &8 EEREE)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
3 HES 184 400 A216
R SRAASACISHIYAES 184 400 n216
O=1U0s = 2HFEa
38 184,000&14] 184 400 N216
EH=01 & MOS0l 7 1,500 0 1,500
201 ZBt=Eh] 1,500 1,500
01 AtR2te|H] 1,500 1,500
OJ12g ZI1, EH=J1, MOtEdl 7
15,0002 *100H 1,500 0 1,500
Ny 23 578,720 543,720 35,000
SRu=sed 379,120 344,120 35,000
202 04l 235,000 200,000 35,000
05 322 WY 235,000 200,000 35,000
Od=2uII|I2 S ns2d 0yl
d&d 235,000,000 235,000 200,000 35,000
AASYO JISHEMEIA RIS 235,139 234,899 240
HYYESN 28 720 480 240
201 ZBt=Ehl 720 480 240
01 AtR2tc|HI 720 480 240
OFEE3NYAAE ¢
g8 60,0003 2 *62] 720 480 240
o S ¥EE o7 Y =4 1,172,320 1,568,320 396,000
YHIA QIF=eIl Al =2 1,172,320 1,568,320 396,000
YHIH FUSEHD 29 1,160,010 1,556,010 396,000
301 LBtEAF 1,046,210 1,442,210 396,000
4 IIEt2 8= 1,046,210 1,442,210 396,000
OHYN ==Xz 1,046,210 1,442,210 A396,000
-MANE AL AICH
& 200,000 =4, 0004l CH 800,000 1,100,000 A300,000
JIEH HXE
d& 200,0002 20K CH 4,000 100,000 /96,000
CE0f Mot U2 0IRAE &8 497,699 486,699 11,000
= 34,927 34,927 0
= 27,000 27,000 0
o 435,772 424,772 11,000
A2SAES HE 497,699 486,699 11,000
= 34,927 34,927 0
T 27,000 27,000 0
i 435,772 424,772 11,000
NHASAHE 29 300,345 204,345 6,000
307 212t01& 299,295 293,29 6,000
03 2 HEE2SHIEX 299,29 293,29% 6,000
OXEsAdH2Y
2 & 299,205,000 100 A 299,29 293,29% 6,000




2A:

SHE X2 0t

X 020! SDlicte SU2 0IRAE &8
Hel HEsSAEs dE (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
NHESAE g2d3t X 24,000 19,000 5,000
307 2IZtol & 23,000 18,000 5,000
02 QZHEMAIH 2 X 20,000 15,000 5,000
On#SA 25 =258 NI=
5,000,000 14| 5,000 0 5,000
ZeI0IHERB R B A5t 1,385,712 1,263,362 122,350
< 27,880 27,880 0
i 1,357,832 1,235,482 122,350
IXgE s 1,352,902 1,230,552 122,350
< 27,880 27,880 0
z 1,325,022 1,202,672 122,350
QIZHEEH X1 31,720 24,600 7,120
201 Ler2aY| 8,300 4,000 4,300
01 At22tell 8,300 4,000 4,300
O FSA ZE I
& 100,000 «83 8,300 4,000 4,300
307 2Izto| A 18,700 17,700 1,000
02 QIZHEMAIH S X 6,200 5,200 1,000
O=HaEy Ast & 4,500,000 4,500 3,500 1,000
402 2I2EXH=201H 1,820 0 1,820
01 QI R2Z AL L R (KA ) 1,820 0 1,820
OIESLAHEZE S| AFRIID| R
1,820,000 1,820 0 1,820
MOEZR S4X1d 194,588 113,583 81,000
307 2Iztol& 134,588 113,588 21,000
02 QIZHEMAIHE X 62,160 41,160 21,000
OE=MOSXIZ A tHal &It
338 4,000,000& 4,000 3,000 1,000
OMOE =HEgaAe
20,000,000 14} 20,000 0 20,000
402 212EXH=201H 60,000 60,000
01 QIZEXHE AL 2 (RERITH ) 60,000 60,000
OLEZMOIS22t E+3A
60,000,000 60,000 0 60,000
HiEAdadies &2 S 39,418 39,608 A190
402 212HXH2 01 & 1,610 1,800 A190
01 QIZENHZ AL E (M) 1,610 1,800 2190
OtIlEAdIIES 823l AARID| X3
& 1,610,000 1,610 1,800 210
=l =Es = 15,000 15,000
307 2IZto& 15,000 15,000
02 QZHEMAIHE X 15,000 15,000
OSsZEeI 28 Aol =2l X
10,000, 0002 10,000 0 10,000




A HEXA DL
3 eSSt AXIdE et
el AIXAHF S EER=E)
SA - B - O9I(30) - HIRAY - B2 ol &k 0| & o RS2
OZDIZERISE Aol 2| X2
5,000,000& 5,000 0 5,000
DA 2H 29 97,084 77,584 19,500
301 LEIEEZ 68,500 49,000 19,500
14 JIEt2 4= 68,500 49,000 19,500
OLNSAEI IR M EelShl
Z& 56,400,000 *14] 56,400 39,500 16,900
OLSAIZIIZH EelS bisH]
Z& 11,100,000 14] 11,100 8,500 2,600
FRIE {0l AAL (FRINIEHR ALY 122,720 122,800 280
307 2I2t01 122,720 122,800 N80
04 IZFHALAISE = 57,740 57,820 A80
O%=20ta s23l & 9,040,000 9,040 9,120 280
Wegs(HEX2 ) 14,834 11,059 3,775
BEXE 14,834 11,059 3,775
ICHISEE=Z 14,834 11,059 3,775
802 grat=DIE 14,834 11,059 3,775
01 =NExIerE= 7,255 3,491 3,764
O2NEXZAIY EexoH 7,224 3,465 3,759
M= SE NASAEE Ot MHIA XI2(
2021) 110,860 m 0 M
- S AL 2OUI0IH X - S8 AF(2021)
3,647,980& 3,648 0 3,648
O3NS ERAY LM0IXL 31 26 5
- SA 2CIUI0IE IR K E AN (2018)
3, 100& 4 0 4
-NM= S8 NFSAEE It MHIA XI&(
2018) 330 1 0 1
02 Al - SHIEXZEHEZ 7,579 7,568 1
OSHISEAIY LA0[ Xt 45 A 1
-NEASAIE SAHES XI&
10,7302 11 0 11




